Get out your homework and start checking your answers. We will

have a quiz tomorrow!

Classwork - Quiz Review

1) Find the Greatest Common Factor of terms listed below,

A)42aand 27 B) 16xy and 32x
QLF:=3 | Lox.
D) 26g and 65g E) 18cd and 30cd

G) 56g and 84gh H) 425 and 28s

2%q 145

C) 45 and 15n
F)12b and 36
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I)22mn and 11kmn



2) Completely factor each expression and write it in factored form. Use an area model to show vour
work! If the expression can't be factored write CAN'T BE FACTORED and explain why.

A)36x + 24 E] 12 - 3x C)=10x + 20
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1) Simplify the following expressions by combining like terms. Use the Circle Box method to identify like
terms = INCLDUINGTHE SIGN IN FRONT - then simplifv. If vou don't think about the + or = sign in front

of vour term, vou will probably not simplify correctly. There should not be any like terms in vour final answer.

A)12x — Bx B)—-15+6 C)5x—T7x+ 11 D)y—3x+4-—9

E)9c—4—-7c¢ F)=10+8h -2 G)-5d+2+d

H)é6x—4x+5—7 D3y+9—7t—4 N-114w-2-3w



K)-3p—5+4—2p

L)—-13—-k+3 +6k M)9—-4z—-11+ 10z

The Distributive Pmperl:.:

2) The distributive property describes a situation in which a number is being multiplied by an entire expression
inside a parenthesis. The multiplication of a number is being shared (distributed) to every term inside the

parenthesis.
Area models, like the one

41 8x |—-12
2x -3

W W Vi Wav W

factored expression does this picture represent? How can vou tell

you are mr‘e-vi ? lucr]::mg at the picture?

What expanded ¢x]:rr=551un d 5 the picture represent? How can you tell vou
are correct by looking at the picture?

it




3) Look at the following area models and complete and write the factored and expanded form of the expression.

A) 5 o *)-l B) 4 C) 3

3x  +1 2x -6 -4x -5
Factored: D_(. 31;‘_ 1&) Factored: Factored:
Expanded: w:lr ’2_- Expanded: Expanded:

4) Use the distnbutive propertv on the expressions below. Use an area model for the factored part of the
expression to find the expanded form of the expression. If needed, simplifv like terms after using the
distributive propertv.

A)4(2x +3) B) —3(x + 2) C) 4(=2x—5)



D) —4(—-3x—1) E)3(2x — 2) F)—2(1x — 3)

G)3(x+2)+7 H)=2(3x+2)+ 8x [)=2(x—4) + 4x— 10




T %[—lﬂx +12)+8x—3 K)3(2x+1) — 2(4x—4) L)—4(—x+2)+5(2x — 3)

C=C ol




Factoring Expressions
5) For the following expressions, find a greatest common factor of both terms and rewrite the expressions in
factored form. You can use an area model and write the areas inside the box, then trv to find the largest factor
of both terms and write it on the side of the box.

1) Find the largest number that goes into BOTH +8x and +10
BK +1 I:I 2 is the largest number

N

2y If vou write a 2 off to the side, think about what vou have to multiply 2
by to get an area of 8x for the 1" box and +10 for the 254 box.

Answer:
+10| = 2| 8x [+10| ——> 2(sx +5)

4x +5

2| 8x

A)10x + 15 B)9x — 12 C)8x + 24 D) —10x + 25
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Factored Form: Factored Fomm:; Factored Form: Factored Form:
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E)—6x— 12 —4x — 14 G)—=2x+ 10 H)3x-9

11 [ [ [

Factored Form: Factored Form: Factored Form: Factored Form-
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6) Evaluate each expression if x = 2, y = —5, and z = 8. You must show all work.

vz
A)éx + yz B)v:—(3+x2) E}?



Ty Refer to the table to the right.
A)Ifthe arithmetic sequence will continue, what algebraic expression

can be used to find the centimeters for any number of days”

Define Varnahble Algebraic Expression

d =<in.3£ 2d e A7

B)How much will the cost be after @ days?

2) Refer to the table to the right.
A)Ifthe arithmetic sequence will continue, what algebraic expression

can be used to find the distance wraveled in miles for anv number of
hours?

Define Variable Alzebraic Expression

B) How far will the object have traveled after 20 seconds?

Days Centimeters

1 . 2

3, 6

3, r 10
Hours Miles

1 35

2 110

3 165




